



การลบเศษส่วน (เศษส่วนผสม)

ชื่อ: _____

วันที่: _____ คะแนน: _____

$$2\frac{1}{4} - \frac{1}{4} =$$

$$6\frac{6}{7} - \frac{6}{9} =$$

$$2\frac{1}{2} - \frac{1}{5} =$$

$$\frac{3}{5} - \frac{3}{8} =$$

$$\frac{3}{6} - \frac{1}{9} =$$

$$\frac{3}{4} - \frac{5}{8} =$$

$$\frac{3}{5} - \frac{4}{9} =$$

$$\frac{7}{8} - \frac{6}{8} =$$

$$2\frac{1}{3} - \frac{5}{8} =$$

$$\frac{3}{8} - \frac{3}{9} =$$

$$1\frac{1}{3} - \frac{7}{9} =$$

$$\frac{4}{5} - \frac{3}{8} =$$

$$\frac{6}{8} - \frac{2}{6} =$$

$$2\frac{1}{2} - \frac{2}{3} =$$

$$\frac{4}{6} - \frac{1}{7} =$$

$$\frac{2}{3} - \frac{1}{6} =$$

$$1\frac{1}{6} - \frac{6}{8} =$$

$$1\frac{1}{6} - \frac{1}{4} =$$

$$1\frac{1}{2} - \frac{7}{9} =$$

$$3\frac{1}{2} - \frac{2}{3} =$$



ชื่อ: _____

วันที่: _____ คะแนน: _____

$$\frac{2}{4} - \frac{1}{4} = \frac{1}{4}$$

$$\frac{6}{7} - \frac{6}{9} = \frac{4}{21}$$

$$2\frac{1}{2} - \frac{1}{5} = \frac{23}{10} = 2\frac{3}{10}$$

$$\frac{3}{5} - \frac{3}{8} = \frac{9}{40}$$

$$\frac{3}{6} - \frac{1}{9} = \frac{7}{18}$$

$$\frac{3}{4} - \frac{5}{8} = \frac{1}{8}$$

$$\frac{3}{5} - \frac{4}{9} = \frac{7}{45}$$

$$\frac{7}{8} - \frac{6}{8} = \frac{1}{8}$$

$$2\frac{1}{3} - \frac{5}{8} = \frac{41}{24} = 1\frac{17}{24}$$

$$\frac{3}{8} - \frac{3}{9} = \frac{1}{24}$$

$$1\frac{1}{3} - \frac{7}{9} = \frac{5}{9}$$

$$\frac{4}{5} - \frac{3}{8} = \frac{17}{40}$$

$$\frac{6}{8} - \frac{2}{6} = \frac{5}{12}$$

$$2\frac{1}{2} - \frac{2}{3} = \frac{11}{6} = 1\frac{5}{6}$$

$$\frac{4}{6} - \frac{1}{7} = \frac{11}{21}$$

$$\frac{2}{3} - \frac{1}{6} = \frac{1}{2}$$

$$1\frac{1}{6} - \frac{6}{8} = \frac{5}{12}$$

$$1\frac{1}{6} - \frac{1}{4} = \frac{11}{12}$$

$$1\frac{1}{2} - \frac{7}{9} = \frac{13}{18}$$

$$3\frac{1}{2} - \frac{2}{3} = \frac{17}{6} = 2\frac{5}{6}$$